ASTERVOLT

Repair kit A cooling water pump type M16

——

Part nr. 50206257

_—

K

Refer to the user’s manual of the Whisper generator set for maintenance instructions!

_—

50206265 Screw cam

50206269 Cam

P 50206268 Coupling shaft
- 50206272 Spring pin

50206271 Shim
50206255 Cover

k 50206264 Bearing (2)
50206263 0-ring
50206262 Sealing

- =F

. _
CONTENTS OF THE DELIVERY

pos gty  article no description

1 1 50206267 Shaft raw water pump M16

2 1 50206268 Coupling shaft raw water pump M16

3 1 50206272 Spring pin raw water pump M16

4 2 50206264 Bearing raw water pump M16

5 1 50206263 O-ring raw water pump M16

6 1 50206271 Shim shaft raw water pump M16

7 1 50206266 Ring raw water pump M16

8 1 50206269 Cam raw water pump M16

9 1 50206265 Screw cam raw water pump M16

10 1 50206274 Gasket washer raw water pump M16

11 6 50209018 Screws impeller pump Stainless ZKGR M4x8

12 1 50209021 Cover impeller pump neutral

13 1 50206262 Seal raw water pump M16

14 1 50206259 Impeller raw water pump M16

15 1 50206260 Gasket raw water pump M16

TOTAL 50206257 REPAIR KIT A COOLING WATER PUMP TYPE M16

50306257 _RepairWaterPumpM16_A.doc Page 1 of 1

Copyright © 2008 Mastervolt

Version: 080916EN



